
SAP ABAP table VBDKA {Document Header View for Inquiry,Quotation,Order}

VBDKA

LAND1 [CHAR (3)]

SPRAS [LANG (1)]

REGIO [CHAR (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

SPRAS_VKO [LANG (1)]

VKBUR [CHAR (4)]

SPRAS_VBUR [LANG (1)]

VBELN [CHAR (10)]

VBELN_VANG [CHAR (10)]

LLAND [CHAR (3)]

ALAND [CHAR (3)]

SLAND [CHAR (3)]

LAND1_WE [CHAR (3)]

SPRAS_WE [LANG (1)]

REGIO_WE [CHAR (3)]

VSBED [CHAR (2)]

BUKRS_VF [CHAR (4)]

INCO1 [CHAR (3)]

GEWEI [UNIT (3)]

VOLEH [UNIT (3)]

WAERK [CUKY (5)]

KURST [CHAR (4)]

KALSM [CHAR (6)]

KNUMA [CHAR (10)]

KONA

MANDT [CLNT (3)]

KNUMA [CHAR (10)]

 VBDKA-KNUMA = KONA-KNUMA 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VBDKA-BUKRS_VF = T001-BUKRS 

0..N

0..N

T002

SPRAS [LANG (1)]

 VBDKA-SPRAS = T002-SPRAS 

0..N

0..N

 VBDKA-SPRAS_VBUR = T002-SPRAS 

0..N

0..N

 VBDKA-SPRAS_VKO = T002-SPRAS 
0..N

0..N

 VBDKA-SPRAS_WE = T002-SPRAS 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VBDKA-ALAND = T005-LAND1 

0..N

0..N

 VBDKA-LAND1 = T005-LAND1 0..N

0..N

 VBDKA-LAND1_WE = T005-LAND1 
0..N

0..N

 VBDKA-LLAND = T005-LAND1 

0..N

0..N

 VBDKA-SLAND = T005-LAND1 

0..N

0..N

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 VBDKA-REGIO = T005S-BLAND 

0..N

0..N  VBDKA-REGIO_WE = T005S-BLAND 

0..N

0..N

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 VBDKA-GEWEI = T006-MSEHI 

0..N

0..N
 VBDKA-VOLEH = T006-MSEHI 

0..N

0..N

T683

MANDT [CLNT (3)]

KVEWE [CHAR (1)]

KAPPL [CHAR (2)]

KALSM [CHAR (6)] VBDKA-KALSM = T683-KALSM 0..N0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VBDKA-WAERK = TCURC-WAERS 

0..N

0..N

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 VBDKA-KURST = TCURV-KURST 

0..N

0..N

TINC

MANDT [CLNT (3)]

INCO1 [CHAR (3)]

 VBDKA-INCO1 = TINC-INCO1 

0..N

0..N

TVBUR

MANDT [CLNT (3)]

VKBUR [CHAR (4)]

 VBDKA-VKBUR = TVBUR-VKBUR 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 VBDKA-VKORG = TVKO-VKORG 

0..N

0..N

TVKOV

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

 VBDKA-VTWEG = TVKOV-VTWEG 

0..N

0..N

TVSB

MANDT [CLNT (3)]

VSBED [CHAR (2)]

 VBDKA-VSBED = TVSB-VSBED 

0..N

0..N

TVTA

MANDT [CLNT (3)]

VKORG [CHAR (4)]

VTWEG [CHAR (2)]

SPART [CHAR (2)]

 VBDKA-SPART = TVTA-SPART 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VBDKA-VBELN = VBUK-VBELN 

0..N

0..N

 VBDKA-VBELN_VANG = VBUK-VBELN 

0..N

0..N


